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SECTION A: compulsory (40%)

Question 1

I A farmer went looking for mangoes for his fifteen orchard trees orchard and made the following
records; 0; 4; 0; 1; 2; 3; 4; 2; 0; 5; 4, 5; 6; 0; 7

Find the

(a) Mode [2]
(b)  median ' [2]
() mean [4]

(d) Calculate the variance and the standard deviation and standard error of this data [10]
(e) Here are the scores attained by the students in the recent in-class exam
18;100;27; 52; 85; 61; 68; 82; 54; 87; 91; 34;78; 93; 59

i. Establish the lower quartile, median, and upper quartile [6]
il. Identify skewness of the data [3]
iil. Draw a stem and leaf to show the distribution of the data [5]

(f) Explain how the Chi-Square (¥2) is an important statistic in Quantitative research?  [4]

(g) Using data in (e) illustrate the relevance of a bar graph in Quantitative research (4]

SECTION B Answer Any TWO (2) Questions (60%)

2. Demonstrate and explain in detail the differences between

a. Qualitative and quantitative research [10]
b. Systematic and stratified sampling [10]
c. Descriptive and inferential statistics [10]

3. Theory and literature review provide the necessary foundation for developing coherent
research. How exactly do these two help the researcher? [30]

4. a. Describe the evolution of research ethics taking account of the major milestones since
the end of World War 2. [15]
b. Explain how ypu would observe the main principles of research ethics in a research of

your choice. [15]

5. Explain the following terms as they relate to the practice of research (you can also

illustrate your response). Your explanations have to be thorough and exhaustive.

a. Population [5]
b. Random sample [5]
c. Hawthorne effect [5]
d. Paradigms [5]
e. Cultural competence [5]
f. Randomisation [5]
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